AP Physics  -  Velocity

Kinematics  (  study of motion independent of causes

Dynamics  (  motion and causes

Displacement  (  Change in position 
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Vector  (   quantity with magnitude & direction
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· A car travels 456 km at an average speed of 289.5 km/h.  How much time?
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Instantaneous Velocity  (  limit of average velocity as (t approaches zero
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Velocity   ---   Vector

Speed   ----   Scalar

Slope of line   (   tangent at p is instantaneous velocity 
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Velocity    
0 to  a
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b  to  c

Look at this graph:
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What is velocity from start to a, a to b, b to c, c to d, d to e?

What is displacement after 7 sec?     5.3 m

Make a velocity vs time graph for this situation.

0  to  a:   v = 1.3 m/s

a to b:  
v  =  0

b to c:    v = 1.3 m/s

c to d:
v =  -  2.0 m/s


d to e:      v  =  -2.0 m/s
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